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isomorphism:

ANV E ANV @@ A"V,
0< g, ,nm<n

n+:4n, =n
because the L-module A"V is the only summand on the right side which is equiva-
lent to V; by 7) (note that V; = V; as I-modules for every i). We consider the map
T(‘v]-! i ?vﬂ) = [-u'{vl)a e 11“'(1‘:!1)] - ﬂ'[“ll "ty 'vﬂ]- Since TT(T’I; R T.‘r“)} = 0 for all
v; € V, i€ n, 7 is n-linear map from x™V to I. It is clear that 7 is an alternating
map. Moreover, since g is an L-module morphism, we have for all X € L and all

v, eV,ien:
X.(r(v1, -+, 0a))
= X.([u(v1)s -+ p(va)]) = X(p([v1, - -5 va]))

= E[)u(ﬁl): e ,#(U{_j),#{x.ﬂt'},ﬁ(ﬂ{+1), e 1#‘(1}“)]
i=1
= E.u[vla SRR P X.'U.:,'U“q.l, R 11":1.]
=1

mn
o E T[T‘Tls <oy Wig, X0y, Vig1s" " )vﬂ)‘
=1
Therefore 7 induces an I-module morphism 7 : A"V — I.

Now let v : V — I be a nonzero L-module morphism. Consider the map
vy : X™V — I defined by

!"".I.{:Ul!"'rvﬂ) = V['vls“'svnl
= z[.u(l’l)v St 1#(”1'—1): H(Ui)'! F(ﬂi+1)r mE r-u(vnn'
=1

One can prove that v is alternating and

X.(P](‘l.’h Tty ﬁﬂ)) = Z ul('ulv T Ui—l:X'vt'v Vig1,7 7, vﬂ)'
i=1
Therefore v, induces an L-module morphism 7 : AV — I. We assume that v; # 0
(in case v; = 0 we take B u instead of g where 8"~! # 1). Let o € K such that
F=aqi,ie forallv; e V,i€n,

[#(1?1), i !l-u'(v“]] - ”‘[vl& =k }vﬂ]

= au[vl, i 'Un] ik Z[P’(Ul)! iy #(Ui—] }1 V(vi}ﬁ »u(vi+1): 80 ,h'-(‘l-'rn]]-

=1



